




Visualize a fast small computer, say:

    One petaflop (1015 ops sec-1)

    Femtometer (10-15) in diameter (~ size of a neutron)

Buy a few: say enough to pack the visible universe 

    Radius of visible universe: 

       1010 light years x π x 107 s/year x 3 x 108 m/s = 1026 m

     Volume: (1026)3 = 1078 m3

    # processors: 1078/(10-15)3  = 10123 (.1 yotta-googles)

Let it run for a little while, say 1010 years

      1010 yr x π x 107 s/yr x 1015 ops/s x 10123 processors

      = 10155 ops since the dawn of time  
                (somewhat optimistically)

2, 22 = 4,     = 24 = 16,       = 216 = 65536,        ≈1020000

How much can we 
compute?
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